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Please check that this question paper contains 8 printed pages + 2 Maps.

Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

Please check that this question paper contains 30 questions.

Please write down the Serial Number of the question before attempting it.

15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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General Instructions :
(i)  The question paper has 30 questions in all. All questions are compulsory.
(ii) Marks are indicated against each question.

(iii) Questions from serial number 1 to 8 are Very Short Answer Questions. Each
question carries 1 mark.

(iv) Questions from serial number 9 to 20 are 3 marks questions. Answers of these
questions should not exceed 80 words each.

(v) Questions from serial number 21 to 28 are 5 marks questions. Answers of these
questions should not exceed 100 words each.

(vi) Question number 29 and 30 are map questions of 3 marks each from History and
Geography both. After completion, attach the maps inside your answer-book.

1. S=irgdl St % SR 2RI H SR §Y HeT o bt SIRGR HT 47 & 2 1
aran
T Bt 3T T A A faaam Jeeh & oiaeh & A fafau |

What was the strong demand of the emerging middle classes in Europe during
nineteenth century ?

OR
Name the writer who wrote the book ‘The History of the Loss of Vietnam.’

2. @ R YR @R o W i TMTied Sl € ? 1

How does mining affect the health of miners ?

3. JAS UUE HIEAINE HHgHE THEesT hed¥ Sl I 3299 [ | 1

State the main aim of Backward and Minority Communities Employees Federation.

4. T Bror A fafe=T axgell & Felan Hied gAR! UEd | Sueis € 2 1
Due to which reason the latest models of different items are available within our reach ?
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5. A 3T SAESH & WA T WU & eI ARl €, IR JHMRR bt SAHST S F AR
T | 39 Ommel | fashar §RT fohe SUMIERTT SR T Seota a1 747 € 2 1

If you are not interested to buy a brush with tooth-paste but shopkeeper denied to sell

tooth-paste only. In this case which consumer right is being violated by the seller ?

6. o fau & fed THel 3R ST M % fod Tl § 3TR iy | 1

Differentiate between ‘Sectional interest groups’ and ‘Public interest groups’.

7. USSR TSI ST ol olehdiisieh SFael § 31esT &=l T8l qHT Sar & 2 1

Why is one party political system not considered a good democratic system ?

8. TSI fohd WK STEvTeharsti & igY TANT i SMETshdl Sl THIG Hdl § 2 1

How does money eliminate the need for double coincidence of wants ?

9. S T 3Tkt T YR o 3MER W ailichd T | T UH TR A FA ISR =€ 2 1+2=3

Classify industries on the basis of their main role. How are they different from each other ?

10. SIS g7 fhd ed € 9 IRAT SHAT U e & ot s fagei #1 Sooig
HIT | 1+2=3

What is a political party ? State any two points of the ideology of Bhartiya Janta Party.

11. Siffaan § St o FHSieRor o fa%g a9y &l Agcd e fhar 2 39 Se 511 forig & fow
3TUATT T LT T FUH I | 1+2=3

Who led the protest against water privatization in Bolivia ? Describe the ways of

protest adopted by that organization.

12. T Gerd Ggel i STTUROM TRis & feld [ Wb He<aqol & 2 310 AR e it | 3

How is the concept of Self Help Groups important for poor people ? Give your view

point.
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13.  “AIH0T AT Sl o TATEAT o SUFNT i A SEATAHAT & |7 SUIHT Tohi Ared 30 H
TGS 23 | 3x1=3
“There is a pressing need to use renewable energy resources.” Justify the statement

with suitable arguments.

14. TR ¥ SREd 3R S~gal Qgar & IR TG 5 TLAR b [T H Hewagor qHeht

g 1 3eTereT wfed wue i gfte HT | 3x1=3
rear

“ShIAITaET = foRraTe | ToreT B T ® gt A h foIU faf= o)k SO 17 3RO

Tfed Fo = g FHIT |

“Culture had played an important role in the development of nationalism in Europe

during eighteenth and nineteenth centuries.” Support the statement with examples.

OR
“French tried to solve educational problems in Vietnam in different ways.” Support the

statement with examples.

15. fatu= st 9gg afema e SAiRieH 9 =1 S 2 T ST | 3

Why did the different social groups join the Civil Disobedience Movement ? Explain.

16. ST& WA HHYH IR YgaT df I W TIeH- aad STef’ & AR ¥ far mn | yrdwat
T T AATHAT & 98T H Tk T | 3

Simon Commission was greeted with slogan ‘Go back Simon’ at arrival in India.

Support this reaction of Indians with arguments.

17.  ad uRfefaar 3T @t 290 & fo g (Hivea Sofia soeme Mest &l & 1 30 o ol aehi

gied =Aitad &R | 3x1=3

“No party system is ideal for all countries and all situations.” Justify the statement

with arguments.

18. e AT fhg TR =reten! & SR bl Tiferd hidl & 2 3SRL0T Higd W ST | 3x 1=3

How do large companies manipulate the market ? Explain with examples.

32/2/3 4



19.

20.

21.

22.

23.

24.

25.

“TRIT TRER 37t off 307 o feIu eroeniies | X R € 1 39 e i gfte SS1eevl dfed

HINT | Ix1l=

“Poor households still depend on informal sources of credit.” Support the statement

with examples.

“RA AR I Tk TEwau] AIel-38Td 3cAISeh 91 § a2 1 319 qof W1eg 1 faehra et
FATE 1 JoT G Taepra I & felt ig 19 ST GATST 31X ST AR it |

“India is an important iron and steel producing country in the world. Yet we are not

able to perform to our full potential.” Suggest and explain any three measures to get

full potential.

TG AT T hdl T 91T U 3101 SeaTe SohTeal Tad i § Wiid e arel

T2l urd RISl AUH HIT | S5x1=

Describe any five factors that promote the Multinational Corporations (MNCs) to set-

up their production units in a particular place.

IRA | v fove g = f6g TR ek T 3nféep SR Tetitaes feifa UsT 6 2 Seexvl afed

Waﬁr:_lel S5x1=

How did the ‘First World War’ create a new economic and political situations in

India ? Explain with examples.

ST Yeg ! IR SHITSTT | T ol AR o & H -7 ST ST € 2 WL BT 11 + 4 =

Define the term ‘tourism’. Why is tourism known as a trade ? Explain.

JTAIHTOT FRT TE TEAT § DI IR S HHRT o THeT YT 1 TE T FHTS T 0

5|§3Q| Sx1=

Describe the major problems created by the globalization for a large number of small

producers and workers.

“ATehds & SHIHHIST o Ui SN hl ST oFefd ShiAT lehc ohi Toholdl &l S9nar & I 39
T It 38y |

“A public expression of dissatisfaction with democracy shows the success of

democratic project.” Justify the statement.

3

3

5

5

5

5

32/2/3 5 [P.T.O.



26. “@HST FAR SiaA % STa 9T € 1 33RO Gled F i g HT | 5x1=5

“Minerals are indispensible part of our lives.” Support the statement with examples.

27. Ak T SHaeTE e AU i HH - U 31Ty Gl fG@re T&l ggdl & 1
T I [0 ST | 5x1=5

“Democracies are not appearing to be very successful in reducing economic

inequalities.” Analyse the statement.

28. “FU H I GE % AW AATE TP ALATS T SACIEART STRAG! AP e ST
TET TET ST TSI % VAT T H AT |7 3 U T SRV Wed [TeeisuT Hif | 5x1=5
rerat
“1960 % T91% T foad T T SIRaT Sl 5T & ATF-91d HIETRT o €9 H 997 fohar mr 17 59
I T TR Hed [aeersoT HiT |

“Nationalism no longer retained its idealistic liberal democratic sentiment by the last

quarter of the nineteenth century in Europe.” Analyse the statement with examples.

OR
“Women were represented as warriors as well as workers in Vietnam in the 1960s.”

Analyse the statement with examples.

29. TF @01 — (A), (B) 3T (C) YR & ToHideh {@-AMes | 3ifehd 6T 70 € | &7 7810
FrefafEd STFeRT St FerFar ¥ Tean-y 3R S T&t A Arad | 3ifha &t ¢ et w
ferfaT - 3x1=3
(A) T T SR YR AT HiU 1 SATE9 g T |
(B) & T ST “HT A 3 I I I gl T |

(C) =& T STl [ha T = HeATE ol IS [har &7 |

Three features (A), (B) and (C) are marked on the given political outline map of India.
Identify these features with the help of the following information and write their

correct names on the lines marked in the map :
(A) The place where the Indian National Congress Session was held.
(B) The place where the ‘No Tax Campaign’ was started.

(C) The place where peasants organized a Satyagraha.
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A ; F=TAREd Te hae giteatted adieniea & o ues T 29 % T W E
(29.1) 39 TIF H1 AW gy, STt faam=r 1920 T YR T T 1 SATaE gatm or |

(29.2) 39 WM H A4 fAMEE, ST T A I T I Y g3 7 |

(29.3) ToRIA  fREET 7 e w W Geamrg fohar ar 9

Note : The following questions are for the Visually Impaired candidates only, in

lieu of Q. No. 29 :

(29.1) Name the place where the Indian National Congress Session was held in

September, 1920.
(29.2) Name the place where ‘No Tax Campaign’ was started.

(29.3) At which place did the peasants organize Satyagraha in Gujarat ?

30. WRd & T T IoIae TE-AMET B HEteiad s S el ¥ 39 K 39 AW

ferfa - 3x1=3
(A) 3TOTfeeh el Ha S IGREE]

(B) T & S WA A LG

(C) v TS —  Wigel

On the given political outline map of India locate and label the following with

appropriate symbols :

(A) Nuclear Power Plant — Kalpakkam
(B) [Iron and Steel Plant - Rourkela
(C) Major Sea Port - Kandla
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e : TAfeEd Te hae gheaTed aeterat & o 7o @ 30 & ®H WE

(30.1)  THoTasRRH TRHT] o1l G fohe Tog o e & 2

(30.2) 3H T 1 AW ARG ST TSTahell ol & S 943 g ¢ |

(30.3) wigen g fopd T oX feErd & 9

Note : The following questions are for the Visually Impaired Candidates only, in
lieu of Q. No. 30 :

(30.1) In which state is Kalpakkam Nuclear Power Plant located ?

(30.2) Name the state where Rourkela Iron and Steel Plant is located.

(30.3) On which coast is ‘Kandla’ port located ?
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TRA . 29 o fTT AR
Map for Q. No. 29

A 1 Y@ T-AARE (Teifa)
Outline Map of India (Political)
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U . 30 & foT A
Map for Q. No. 30

WA T F@T-UFRE (TsHifas)
Outline Map of India (Political)
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